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1. 25% 1 arfies gremor sarer a7 & ueh T e e & o 7 & St 2
g & B) 10ad (€) 6ad (D) 57
In how much time will an amount be tripled, at the rate of 25% per annum simple interest ?
(A) 8years (B) 10 years (C) 6 years (D) 5 years

2. CUHFEH24 AT FMRD 16ﬁﬁﬁmm%|ﬁﬁ@m$ﬁ§mm,%DﬁmW3ﬁ@

4 e e v v R | e ol 3 T T o 2
(A) 9few (B) 10T s © 9.6 fed Q}»’lﬁﬁ

C can do a piece of work in 24 days and D in }’6]days They began the work together, but D left the work
4 days before its completion. In how many daywas the work completed ?

(A) 9 days (B) 10 days =2 (C) 9.6days (D) 12 days

3. 110 SR =1 ¥ MR, @WWW%%@ZZW%WW% AT AT @ | AT gHAER
=T SfereTd T SRt | "

After selling 110 oranges, a shopkeeper claf@% that he make@equal to the selling price of

22 oranges. Find the profit percentage of the shopkeeper,
(A) 80% (B) 75%

/' o e 3 A e 16 e 8 s o
12m3ﬂt 8 T T W T A &, a‘rﬁﬁaﬁaﬁ
@A) 10f (B 4f (D) 5f
A work is done by 3 males in 16 days and;@ rk is done by 6 females in 16 days. If 12 males and

(D) 22%
T 16 fot 8 g T smaT 2 1 Afe
f 3 qar fopam 2

25%

8 females work together, then they complet: ork in how many days ?
(A) 10 days (B) 4 day (C) 3 days (D) 5 days

5. 2GS & A | 2%|zrf‘?.' ﬁ*gﬂaﬁam%a‘rms 7 81 ST ¥ | 37 WAl R
#ifT |

The ratio of two numbers i f 21 is addeﬂ‘io both numbers, then the ratio becomes 5 : 7. Find these
numbers. @)
(A) 8,40 . B)” 21, 42 ey 14,28 (D) 7, 14
6. UHTAEH 8% R ; a 7&1 et | 39 I H, et & IFfiear o | forar o Hl i 48% T
: ﬁmh%@wﬁm&ﬁaﬁma‘mﬁmﬂﬁv

The winner, By obtaining 48% of the total votes,,}iefeated his contestant by 110 votes. The total number of

voters in the election was : E1s
y 2750 (B) 1235 <' (©) 1220 (D) 1210

T et T TR @ & /i T A & 3 T 69@‘?[31’{“%@#%%%11 ST TR H 75%
ST foran ® | ugel & E I A T AT I 60%@rh$rwﬁrﬁiﬁam%%ﬁqﬁmammm% | af
maﬁ#m%maﬁawuﬁﬁm% A I AR wT ST AT Sed 9 T a2

A college has raised 75% of the amount it nedd for a new building by receiving an average donation of
Z 600 from the people already solicited. The people already solicited represent 60% of the people the
college will ask for donations. If the college is to raise exactly the amount needed for the new building,
what would be the average donation from the remaining people to be solicited ?

(A) %500 (B) %700 E) 7400 (D) %300
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e SO Uk el 3 100 B 3 it 1ot ohY 10T o6 ey, rerelt & 8.6 3 91T 6.8 Ffw (i) e 2
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A tabulator while calculating the average marks of 100 students in an examination, by mistake enters 6.8,

Instead of 8.6 and obtains the average as 5.8. Then the actual average marks of those students is :
(A) 5.928 (B) 5.782 (Xc) 5.881 ,\yfs 5.818.

U TR0 a1t Y % 48 wfy fret aitc o8 wfer et 3 &t & <fit 1 Foy o forereT =ifi @it o % 40
St TRt ot fevsyor st s U

In what proportion must a grocer mix sugar at TG@ per kg and ¥ 28 per kg so that he makes a mixture
worth T 40 per kg ?

o~
(A) 12:7 B) 1:4 Qe 2:3 (D) 7:12
@mvnﬁ?ﬂaﬁ10%@&%@&%’5}aﬁwaﬁwsmnﬁrw@?ﬁ,a‘rmso%ﬁr
SHITATE (8T H1e) forcr vy 3 ¢ e 2 2 )
(A) 4% (B) 10% €) 6% (DINS FE
A boy can swim in still water at a speed of 10 km/hr. If the speed of the,curfent Would have been 5 kmph,

then the boy could swim 60 km downstream (along the flow) in how muchiirme?
4 hours (B) 10 hours (C) 6 hours N (D) 5 hours

angwﬁﬁﬁ,qgrvﬁanqwmals%aﬂrwﬁ@qwaﬂmni%l’?vﬁaiﬁw@ 19 , 1 veeft dear
g ? e '

Out of four numbers, the average of the first three &15 and that of the last three is 16. If the last number is
19, then the first number is : AN

A) 19 UB) 17 §C) 16 (D) 18

A, BﬁC@WWW%IA@%ﬁﬁl‘ﬂ3y-%ﬁ§wm%,Bﬁﬁ‘f{rﬁw33%%ﬁéﬂw%aﬁ

C 919 feer T 2 | afe e o i o v omy € 4,0’5(%’9TH§34T, dl C 1 T B & @y & fofemr aiftren 2 2

A, B and C started a business. A il}\fested 33 %% of the total capital, B invested 33 %% of the remaining

capital and C, the remaining. If lhg toj:gl profit at the end of the year was ¥ 4,050, then find the amount by

which the profit of C exceeds(thé profit of B. ®)

(A) T700 A(B) 3990 3;‘_{6) 675 (D) 520

A Fosrr Tt < THT A RS & SR 3 T W S S R, A A 65% 1 ST | 9 a8 am
. &

(=N

(% ) feremr 29

If the selling price Ts"tripled and cost price doubled; the profit would become 65%. So what is the present

profit (in %) ? {7
AY 10% (B) 45% % 26.5% (D) 50%

0.7, 0.35, 1.05 1 ST G (LCM) 1 Hiferdy)
Find the LCM of 0.7, 0.35, 1.05.

WA) 2.1 By 0.7 (©) 0.07 (D) 0.105
1 GEATSHT T AT 25 B 3R Ik WY, (HCF) 3 A9, (LCM) F91: 3 39 105 ¥ | aF a9t st 3
SYcH T AT T HITC |

The sum of two numbers is 25 and their HCF and LCM are 3 and 105 respectively. The sum of the
reciprocal of the two numbers is :
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In this’code find
M? .

e T st Tt T 2 A € 25,000 1 Y, 2 A e 3 fere STt A 4% 3 5% 9
ELERLIE

An amount of 25,000 in 2 years at compound interest compounded annually, if the interest rate for the
successive years be 4% and 5% per annum respectlvely, is:

(A) 29,000 L(Bf 27,300 () () %28,000 (D) %26,800
m%maﬁtmﬁﬁqﬂa@maﬁmm zz%ﬁ/ﬂamls%ﬁm%m‘rmﬁw
(Rl ) FTa it |

The speed of a boat along and against the currenff§ 22 kmv/hr and 18 km/hr respectively. Then the speed of
the current (in km/hr) is : O ”
W 2 ®) 4 O © 3 () 7
e GG T T 1 e 36 9 I 6 12?3/ aaﬁlamﬁrcfm% | af =g st e T 10% 2
1%, A ST AT % T AT

A shopkeeper marks the price of a book 120% above its co @ ives a discount of 10% on the

marked price, then find his profit %.

(A) 60% (B) 65% (©) 11 \,QB{ 98%
@ﬁﬁﬂﬁﬂ@f“%%l@ﬁﬂﬁiﬁa@ WW%I%%W g 3fehd
mwtzo%ﬁzgﬁa’rwm%m‘mﬁﬁ

The cost price of a table is ¥ 6,400. A mer
sale, he declares a discount of 20% on th

antawhnts 1o make 25% profit by selling it. At the time of the
; %! ce. Then what is the marked price ?

(A) T 14,500 (B) T16 db (C) % 14,000 D) 10,000
T g % AR, FH 0, 1,2, 3, \'@rmABCDEFGHIaﬂIJmaﬁaTw
2| @

Bﬁgﬁ[(CxD)+(F T)

According to a code, digi 0 P57 B 4 5,6,7,8and 9 are representedbyA B,C,D,E,F,G,H,IandJ

respectively.
' @f[(CxD)+(FxJ)]/D g__j_,ﬁi(_s; 2418

®) 15 0. © 19 % D) 16

Y, ZRTE |V, X AT VA H RS ?
. U is the daughter of Z. Yds]the daughter-in-law of Z. V is the son of X. Who is the

m ? . o2) -
(B) U 2 © A (D) X ‘Z'@
mmm%ma@ﬁmmwa | i s
(A) TaT St i & (B) g R
Sy T () @ (D) aH= y —X
Barometer is to Air pressure as Anemometer is to \
(A) Speed of aeroplanes (B) Wind speed
(C) Humidity (D) Temperature \/
QIGY T HIT :
AveT : Fe - =it : 2
Complete the analogy :
Iron : Fe :: Silver : ?
(A) K (B) Cl () Ag (D) Na



24, f49ﬁgﬁnﬁn_x,Baﬂrc%dﬁa%ﬁﬁatﬁw%lAa»’rra@ttsaqﬁmﬁa%%aﬁmﬁc@rﬂaﬁm
reTd & | 3 Srerdt ot arema 7T 2 0
The total amount of % 49 is distributed among A, B, and C. A receives T 5 more than B and B receives ¥4
more than C. What is the ratio of their shares ?
MA) 21:16: 12 (B) 14:16: 12 (C) 21:16: 14 (D) 21:14:12

@s/) STE T 5 BT A e ok O 9 @S B F ot ot by e i E, weer o e 6 A
Freafer &, gerr smr g i < Reorfe 3 A geft ez 1 10 w1 5 e v g i e e P o 27 =
(A) sfqurafim (B) afRmryt ©) wm WPy satm
Twelve students stand in a circle faci/{_l;é the centre and representing the hours of a clock with the first
student at the 1% hour position, second“6tudent at the 2" hour position and so on. In which direction is the
student on the right hand of the 10™ student with respect to him ?

(A) South-West (B) South-East (C) North o wonh-wﬁt

&3

26.  STHTH GE&IT 1 I |
Find the dissimilar number. ©
78, 104, 130, 156, 178
(A) 130 178 (C) 104 (D) 156
@ e W AN 12 99 F 9 ot a5, o5 9 w191 & 6 1% a9, AR iera, 3 9 7 oA 2, Y 3. 39 =
=1 He form e i afie e 2
gfsm (B) =fggor (D) W

If a person walks from 12 o’clock f;o)9 o’clq:kfwI m 9 o’clock to 6 o’clock, and finally from
n

6 o’clock to 3 o’clock, in which direction is p% ally facing ?
(A) West B) South {J ) East (D) North
£

forar e 2

28. 3f¢ 95474 F GCBEB fa@rsiran &, ar 732
1f 95474 is written as GCBEB, then | Wjis 73453 written ?
(A) AEBCA @ EA (C) AEBAC (D) ACBEA

29. Ta=fafaa qiferes = 12997 FHr I AT |
Jar | M | 1 A|B|E|JT|W|F|lH|lUulDI|P|Y

s | 6 h*(SNT|7|s8|@|1|2]|3]alw]o]#]s
&g MJKPU %I i€ F1 8 ?

7 ; Q)

e TeerT 37eR U e & ST 3ifin STERU W R, A1 AT 1 %R % Frs % w9 Pifed e s =iy |
(A) 861548 (B) %6154% ©x 86154% (D) 8%154%

Study the following table and answer tﬁgquestion.
T|A|B|E[1|w|[F|[u|u]D[P Y

Letter | M | 1 | K
s (sl @ls|l@|1|23]4|w|o]s]s

Code 6 e
=,
What is the code for BMJKPU as per the given table ?
Condition :
If the first letter is a consonant and the last letter is a vowel, both are to be coded as the code of the vowel.
(A) 8615#8 (B) %615#% (C) 8615#% (D) 8%I5#%
T S Y R




i

- ;
QW Uy f
| §
4 @ SREeT 28, 126,344, 1332, Hiqu AT ;
| Complete the series 28, 126, 344, 1332, . E
(A) 2198 (B) 2197 (C) 2168 (D) 2167 ;
31, Freffed i & F-an witershig Sa 1 TR freuo 72 & 2 %
(A) Feft Imgf faaRor - (B) feeem
(OREICEER S +.(D) T ARE
Which one of the following is not the graphical rqprpsentation of statistical data ?
A) Cumulative frequency distribution +(B) Histogram
| (A) quency distrib &+ (B) gr EF)UJN@U"?L

\LC/) Frequency polygon 5(D) Bar graph -
32, 7R T LANGUAGE' 3 Tedt i Zek e oy, i aer o e, et ofe 1 are 1 of, frd ot 32
S7E Y 3R 3 A AT ofY | T ST T & fi e g ST - ?

If the first and second letters in the word ‘LANGUAGE’ weréyint c&ged, also the third and the fourth
letters, the fifth and the sixth letters and so on. Which letter woul e the fifth letter counting from the

left ?

(A) U B A ( D) G
33, AR Ryt H g ) Z

Complete the pattern given below : +
D, DD, DDDD, DDDDDDD, o ] %
: 12 US4y e-3ug b1 s

(A) DDDDDDDDDDDDDD &' (@) DDDDDDDDDD
TaAa el Lhg ol 2

L
.

(C) DDDDDDDD CJ'YQBY DDDDDDDDDDD

34, 3 ETeE Y T e I ,soﬁtﬁﬂ%aaﬁmﬁfﬂamﬁgiwﬁﬁmﬁmﬁﬁ/da@rnﬁﬁ
et g% gt 1 40 FeE AT T & 2 ©)
(A) 4004, /'r‘@ 0 . (C) 4207+ (D) 360 .
What is the combin d length of two trains when one, moving at 80 km/hr, crosses another, travelling in the
same direction atd4 Ky w‘r in 40 seconds ?

; (A) 400mO B) 440 m (C) 420m (D) 360 m
\
| 35. ar@a%ﬁwmﬁﬁﬂm O
{ Find the néxt number in the series. }l
| 88, 108, 130, 154, (]
| AT 180 (B) 190 YA(0) 170 (D) 160

36, o YIS U H Y 75% S Aot oot @b & | S A e A g A G e R E SR m A W A AW
7omgﬁ533mq§aﬁ§lmﬁﬁ,nﬁﬁ@ﬁWM-mznﬁw18ﬁqz$rmﬁamtﬁ5rl
Fr ATt e 2 ©
&) 100fefsfiEe @) 1ofEfisfisa (€ sofmisfada ) so et sfder

| . ;

| rr A train can travel 75% faster than a car. Both start from point A at the same time and reach point B,
‘ 70 kms away from A, at the same time. On the way, however, the train lost about 18 minutes while

\ stopping at the stations. The speed of the car is :

(A) 100 kmph (B) 110 kmph (C) 90 kmph (D) 80 kmph

_________________________________________




37, TRu T s 1 I 23 3 For = ey g are R | a2 et o1 gaheT A S B T
STTCRTG 5T h giten @ |

2
SEFIFI B
g‘wb'%?
e
\§ gl
4O ©
240
ﬁ/z T D
2w
A WET = 1200 fereiiom ?FTWEIT— 1000 fereTrm,
i gHH A 3R THH B 2R 31w ot e = 30 Sf e, F 1 g 240 S freiiame, Arft i Hied
fzosrﬁrﬁmﬁmw I FeAl Y FHd T 15yﬁrmmaﬁtm,aﬁraﬁrmt 18 Wi farcimm 2, @
THA A HTHH B IHT § @t whefl T 6o Hed w8 2 "D’
(A) T52,620 (B) 52,360 (C) 52,630 (D) ¥52,260
Study the pie-chart carefully to answer the question giveff\The pie-charts show the percentage quantity of
fruits at two fruit shops A and B. .
Shop A A \Shop B
Guava

TotalqQuantity = 1200 kg Total quantity = 1000 kg
If Mangoes aré\priced at T 30 per kilogram, Apples at T 40 per kilogram, Oranges at T 20 per kilogram,
Other fruits at €15 per kilogram and Guavas at ¥ 18 per kilogram in both Shop A and Shop B, what is the
combined price of all fruits at Shop A and Shop B ?

(A) %52,620 (B) ¥52,360 (C) %52,630 (D) ¥52,260

Y. @. 389 42 et 94

T qERTST 3 forwar i fersioa: mwﬁ@m@m%m%lﬁmaﬂtm%wﬁ%qﬁaaﬁ
1 0 e At A vt e s ST e @ | firast} 3w swftere s sfemyree 5 e 3 o S et oo
vt Y oY 3ot A LA R e i ST SR o we el 1 AT R 5 A R 3e an
3 T St it T S e e | 6 ST & G T 3 et b W e ) e i viv w
mm%mamaﬁmmwwhﬁmnmﬁmaﬁmﬁ%@mﬁmm%_
farar srart S et sy | wmaﬁmﬁwmﬁimwasﬁmwﬁ
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38, SAETE ST o o T 1 AT 3 GH 3 T 9

(A) =T HaR 3 e dee
(C) T==ie Fa 31 ar dee
39. ST T AT @A

(A) HR (B) =T

A) dfeRa ) T

m/zﬁv

40.  TIRTIS S[YUT ST SHaT &, ek STHFCTCT TSI B AT 2T - /.,..

(B ater waT S e dae

(D) 3rFam 37T u deet
(D) 0T

(€) @;ﬂﬁﬁr o) st

41. fmﬁﬁﬁﬁﬁaﬁwﬁaﬂ%@wﬁmw%mﬁ 52

(A) T e, frar fase
() T dva, fimar famm
42, 39 RIS T Qi Yideh B w1 @ :
JA) IO T HIAAER T
(C) ST5oT Y el

43. W%@W%mﬁmﬁmﬁmﬁ,%w%

(B) ﬁmaﬂa f3ra feem|

faa)’ﬁmanaﬁﬁmmwvr

®

(B) HoOr Al
(D)

(A) fore= (B) @ (e
4. v FEmEEi TR t

(A) Ferrdt (B) W% (©) (D) fuf@
45. aﬁmmﬁmﬂmﬁ:ﬁaﬁmﬁw mﬁﬁ%ﬂ

(A) Tt vETE \ (B)

(C) mer fiw (D)
46. I Wﬁmﬁlﬁ%ﬁ%"&

(©) @w (D) W

%m

49. ﬁw%ﬁaﬁﬁ%m%ﬂzmmwﬁﬁq
(A) IEE e Tl Y et |
SO T e e e |

B) A SAH AE |

(D) u‘e’ﬁngwm‘z}l

¥) R e |
) %:;m@ﬁa@aﬁa@mém

S
(B) aﬁﬁmwﬁmﬁﬁl

(D) @raﬁaﬁmﬁaﬁnm

50. e % g STICHE T THhHIYY] aui fohE TSI T &l ?7

(A) FTOHET (B) T (C) T (D) ¥FAH
51, dg & s o fife i Frefefiad § & -8 FHTeh 1 TG 2
(A) FdFH (B) SAUTEH F (C) FI-Y e () O HE
53, freferfiad § & F-97 Yea BT AR qfeiT A 8 2
AR) A (B) W (€) a® (D) W
= e G SRR T e 7 Ch R A



53, 36 faehed 19 e
“@ﬁmﬁm’w ferw 7o, et a6 wet aref 2 |

(A) Fr fom g (B) =TT TEMT

(&) mr g (D)) ST & ST,
54.  Frrferfiad & & -un v wame a2 0

(A) Tl I Ei) (B) &I & T =g 7 |

(C) o ad & frwer) D REGERRES
55.  srayehr weTfene  damew arorwd s 1 sw A e HHE HA-H TG H 2 2

(A) IR HA (B) werfaamer 4 (C) didrs (D) SITEEoT
56. T Vg T WHHE w1 9 1t

(A) 3it@ (B) wmft 1) wu () e
57. |@d, W, ROP fohe vrse ¥ apeeE 0 - \

(A) W& (B) T :I (C) T _N\ID) @
58, 3T | SRTSUAN T Y w0 A

(A) FHreraTEe (B) VeSS Ol i (D) TRTHATH
59. fored #1E ug W T Srar qun 3= 1o wuE AT}, FRi AT R

JA)  wesiife AT (BY. 7o wHrE

(C) dYEY qHTE (D) FdurE aE
60. et auinTen & Wil i et e o 2 @

(A) 13 UB) 11 A W () 12 (D) 10
61. a3 vreeqm e ol N

(A) 3A-3TH (B) TR iﬁ (C) ATW-37d (D) AT
62. amEr F AT FEY ' () "Jl

(a) fr (B) Hefl o (© fam (D) Tram
63. ‘gﬁﬁu’%m%ﬂawﬁﬁiﬁwﬁwﬁqﬁ@mwm?

(A) Trdie TEE (B) Sl JEEhR

(C) e s (D) e ehTeHt Thit
64. “gm?{maﬁgﬁ@ﬂﬁﬁml”mﬁﬁqmmﬂwﬁm

(A) Tesft (B) TS OO0 T (D) T
65. Freaferfiae & @ AT & S weE wA-AR 2 A

(&) e (B) T %1 ©) Tt (D) ™
66. “WH T FEfard: -

ﬁ mm B) RragsH wEE fj‘]&eﬁ forren (D) =T
67. ‘mﬁ’ﬁm%: tﬁ)

(a) faq (B) deIed @ (© =W (D) FHa
68. fafire faperar forcim W B 2

M) " B) fire (©) wrafire (D) 3fiE
YR T T T T T e Page SOt 24 | T




69. @i Er foRar o fore et T e R 2
(A) WiEGHET  fB) WA AC) e o (D) @ ada
70. TR HHA SR BT H HIA-A1 B @ ?
(A) SRERRE wl) I SE) TTF (D) I
71. 34 + BN % A § Feffad § & -1 weg 794 2
¢ X (B) ¥mER (©) ¥m (D) 3
fored g W AHaT et & araiy % fore U vIek B :
o T JB) (HC) Fda (D) wHiEd
73, FTER@MI@I@ Y g gy
(A) @ B) @it 9 ) 3@ (p) &
74,  TCIEARI Y63 H W 9 @ : O\é
&) T ®) ¥ O(C)HF& '&(D)”
- T A “SEreH g gHeie” [Ei FarEeh o ?
(A) W g © (B)
AC) G R T D)
Which freedom fighter is the author of the book “Intr to Dreamland ?
(A) Bhagat Singh Vinayak Damodar Savarkar
(C) Subash Chandra Bose (D Bal Gangadhar Tilak
76. A-|1 9y fesTTEA, qa;ﬁrf“aamlaﬁ:i wammm%'?
(A) AT (TR REeeT) \ () B) @@ (FE-HEE)
AC) T (st ¢ (D) W (FPEH)
Which research design srudies th e sub_]ects%Ver a period of time ?
(A) Experimental (B) Cross-sectional
(C) Longitudinal @ (D) Correlational
77.  US AAATHERR C)%amamﬁr 'ﬁﬁgﬁﬁ%&%mﬁw%“’
A) fomast ' ) S9-Tgafd (C) TARET JTET& D)  Tsgafa
The Chalrpe embers of the National Human Rights Commission (NHRC) are appointed by
(A) E inister (B) Vice President C ) (C) Speaker of Lok Sabha (D) President
78. BHCl & FAHLE H:
(A) I TF HE IS AT & <
(B) F® el q-aR I STl & =
© aﬁ%ﬁqﬁma’fﬁaﬁmwﬁ m%'m?m?ﬁ%
) forgh ot geftar Tq T % fore G T T &7 & fafi= waed 3T
| { Rotatlon of crops means : ®)
, (A) only one crop is grown
[/ (B) some crops are grown again and again
f'v (C) two or more Crops are grown simultaneously to increase productivity
| (D) growing different crops, on the same land, in succession to maintain soil fertility
f T R R 0 T b




79,

80.

81.

82,

83.

84.

85.

86.

BT B H (AT 2024 T), TRl ety & gevtore defegfaee gfe (1TU) % fefsea s & F
HE-ICAET o T H T2

(A) 53 97 (B)  3uarferar st (C) st foraer (D) He firder

Recently (as of March 2024), who was unanimously elected as Co-Chair of the Digital Innovation Board
of International Telecommunication Union (ITU) 2.

(A) Ajay Ranjan Mishra (B) Aparajita Sharma_t’tv(C) Neeraj Mittal (D) Sunil Mittal

1764 ¥ TR 1 IS8 7 SfIISTT 3 foper syreefar irereh =1 g o ?
(A) et (B) fmm-sgdien  oy(C) AqHTH (D) i Fem
Which Indian ruler was defeated by the British in fh% Battle of Buxar in 1764 ?
(A) Haider Ali (B) Siraj-ud-Daulah {_(C) Tipu Sultan (D) Mir Qasim
T I bt e o vt i fRer 2 2 ‘é;
(A) faw (B) qhed ) i@ o @m
In which city is the headquarters of the European Union located ?
(A) Vienna (B) Brussels (C) Paris %ﬂ) Geneva
I H o T 3 SHfe bt et fear 3 9 & HAmen S € 2
(A), wEreHT e (B)
T, TETH (D)
The birthday of which leader in India is observed as Ghi ’s Day ?
(A) Mahatma Gandhi A gaﬂv Gandhi
(C) S. Radhakrishnan ° % awaharlal Nehru
Frafafad 4 @ F-an fafes s }
(A) e JB) FE 10) W (D) g
Which among the following is net an example of ﬁé\thetic fibres ?
(A) Polyester B) Co ©lc) Rayon (D) Nylon
[EREHEIRSUR R EIN L e ?
(A) sl I it S STH (D) ==
Which country is knownas t nd of the Rising Sun” ?
(A) Thailan outh Korea (C) Japan (D) China
“ifereht & Tt Y T i o ¥
@y o= 1(B) EsmaT
(C) HAZAAAE (D) uH. =EIrE
Who was the first Indian to win the Nobel Prize in Physics ?
(A) C.V.Raman SQ(B) Homi Bhabha
(C) Satyendra Nath Bose }D) S. Chandrasekhar
frffad qemEmrI ars § § HE-E 3 arreTiE e R 2
(A) Il Feifeas STETE () ©IB) T W
(C) AsTER (D) FfmE
Which one of the following ocean currents is different from others ?
(A) North Atlantic Drift (B) Gulf Stream

(C) Labrador (D) Kuroshio

g R S TR R T RN




87. FreaferRaa i & aar i R ST (3TERi) HT A @ 2

Which of the following is an example of a non-tariff barrier ?
(C) Quota (D) Trade Agreement

! (A) Export subsidy (B) Import duty
| 88. ﬁﬁ%ﬁaﬁﬁﬁaﬁqmmmﬁﬁamm?ﬁmm%?
| AR T IR I /(B) g O B (o)

(C) frma (D) AR v
Which of the following taxes is not levied by the Central Government of Indi‘a ?
(A) State Excise Duty (B) Goods and Services"‘ftax (GST)

(C) Corporation Tax (D) Income Tax 4
89. ﬂ%@g\aﬁz%sﬁﬁ?ﬁuﬁmﬁaﬁaﬁﬁm%aﬁt%ﬂaﬁmﬁﬁﬁw@ﬂwmﬁ
Ge ST e | " R
(A) TS @) afiF N
(C) Tt gIsi (D) sfed -
to builgflleir own Trojan malware.

is a toolkit that targets financial services and enablegha

M/A) Spy Trojan (B)\™Ei nker
(C) Rakhni Trojan (D) \Ze

90, <fifir ST 1 A FH R 2 |
B) T TG bl a@@ |

(A) STA & oA I THEHFAT o &
) T farre T S '\ (D) TG 3 S 6 ) O

What is the main function of NITE A i
(A) To manage India’s defence fo (B) To oversee nationa} é:lections
‘ (C) To formulate national d lopment strategies (D) To manage India’sc¢entral bank

|

" o1, e A (ps ) e e & st e R AT 2 2

\ ® (e

& ®) F ol FTafd leh ::33
«C) T TR O AT wifine sf B fad 5 e
(D) | Eﬂ‘ﬂﬁaﬁaﬁl‘@'ﬁ'ﬁméﬁ

In what way$ does the Public Safety Act (PSA) of Jammu and Kashmir ensure internal security ?

I (A) By enhancing community policing and engagement

; (B) By strengthening border security and surveillance measures

| (C) By detaining individuals suspected of activities prejudicial to the security,of the state
(D) By promoting dialogue and reconciliation between conflicting parties :&

92. mﬁwﬁ%fmmﬁﬂwﬁzmaﬁrwm%ﬁwm%

| (A} TR ST (B) T-eTEETE 7
(C) TATEw HTHAE (D) Sg-3TdehaTe f_‘_‘;
$

The Internet Technologies used by terrorists to spread terrorism are termed as ;.
(A) Cyberterrorism (B) Narco-terrorism @)
(C) Ecoterrorism (D) Bioterrorism

T i s




9s.

96.

97.

98.

99.

IeTeA o Fore e &9 ¥ formr sfiamen S o1 3w R st & 2

) T #) e (©) Wit (D) sepfe
Which fossil fuel is primarily used for electricity generation ?
(A) Uranium (B) Coal (C) Petroleum (D) Natural gas
frrferRaa o & F-ar Aem T (o= Fe) FTE R 2
(A) lSFo@EE  (B) sman (C) TEH (D) S
Which of the following is the cause of Melanornia (skin cancer) ?
(A) Ozone depletion (B) Acid rain (C) Allergens (D) Pollution
1987 H BEATEAN R —#iciaht Wil ohi A (3 4T 9T ?
(A) T FHsit T fereprg T H:
(B) e i Amies w8 gt T ﬁﬂﬂﬁémﬁ@mmﬁmﬁaﬁaﬁﬁsﬁm
(C) eI Sg@ra e
(D) S Frm ot oA T “i’f
What was the main purpose of Indo—Sri Lang% Agreement signed in 1987 ?
(A) To develop nuclear energy @)

(B) To resolve the civil conflict in Sri Lanka and ensure Tamll mmonty rights
(C) To promote tourism
(D) To establish economic corporation

T Ferepshaor €ra &, A T S @ et & e fobeft oft b 35 ST 26 o et e 3w F 3w
S et Ry F i w s 2 | AN

W Remmm g s ) (© @) T
When demonetisation occurs, the currency,lgses its and is no longer of the status to be used as
legal money for any kind of transaction. < 7

(A) Coin value (B) Face value eﬁ) (C) Money value (D) Currency value
Tt e g faee (NFSM)amgsﬁsmn?Tm ?

(A) 11301 v ST HAGA ‘fﬂ (B) 10t deaeia Aer % oFa |

(C) 113t derandfar 7Sy SR @ O ot Crera T ST % HeT §

When was Natidnal Eeod Security Mission (NFSM) launched ?

(A) End of N Five-Year Plan (B) End of 10" Five-Year Plan

(C) Mid of 11" Five-Year Plan (D) Mid of 9 Five-Year Plan

Foper syreetiar 3 2023 T G R ST @ 2

(A) fre sfart (B) Tiew Tt e) e feremeff (D) T H=

Which Indian has won the 2023 Ramon Maggailsay award ?
(A) Anil Ambani (B) Gautam Adani . (C) Kailash Vidyarthi (D) Ravi Kannan

S T T e e ifeoren % e € 2

O
(A) STHR (B) Fe® o0 (€) I (D) afrerTg
Which Indian state is famous for the classwa{ dance form Mohiniyattam ?
(A) Andhra Pradesh  (B) Kamataka “  (C) Kerala (D) Tamil Nadu




100. Wm%mgwammw% ?
(A) are et (B) g (C) wAeA (D) e
What is the name of the State Flower of Uttar Pradesh ?
(A) Water Lily (B) Palash (C) Lotus
(" l ¥

101, TTET TR ST T 1 HEw & 2 O
(A) waﬁﬁjﬂﬁmﬁgﬁﬁ@ﬁmm% H:
(By E T, 6.1, ST, ST 37T S feran % i VAT FET i e @
(C) e AT WSl I girass samare 72
(D) € vATeRofta & 1 Haiferd hidr & o™
What is the importance of the Malabar Naval Exeréist ?
(A) It addresses issues related to water pollution e

(D) Gulab

(B) It enhances naval cooperation among India, ﬁf@A, Japan and Australia
(C) It facilitates trade agreements N
(D) It addresses environmental issues \&
102. S & 9T T IR FT FIE FHI G THT AT @ ?
A) Tl T 39 (SdeTh) (B) TAFHTSH A&
(©) et (8N FS ;|
human body ?

Which of these is considered to be the hardest subsfai
+(B), Toe Nails

(A) Tooth Enamel
(C) Elbow (bone) joint (D) Knee cap

103, Mﬁmmﬁmﬁw Rt T 5 7 1 Tl € 7
(4) W Tz (TR \, o

) HIHETTRRT ETEoT ¢

(C) IR T e i
(D) T AR HE0T
The Human Rights Commi

(A) The United Natio
(B) Protectio:a of a

f (C) Constitutio
‘ (D) State Pr@o an Rights
£ > 31 9 Freferfiaa | & forerep foam ST & 2 '
(D) e ket

@

n in States is established under which of the following laws ?

104.
(A) SLSmAEfETY  (B) IO AR H(C) =T TSR
Basketball was said to have been “invented” by which of the following ?
(A) Dr. James Naismith (B) Alfred Mynn &(C) Charles Goodyear (D) Coburn Haskell
- £
105. freft eI 3 2R HawT AT SMS %wﬁ(ﬁsﬁﬁ‘mmél
(A) B (B) A JO) raEm (D) fefif
is phishing through some form of a text message or SMS.
C) E-mail scam (D) Smishing

(A) Catfishing (B) Scam

106, ST F IEAT AT FT2 ?
f @A) gt (B) it (C) foawar (D) fure
| What was the ancient name of Beas ?
' @) Puws??i___-______({au) s BHE S i (D) Vipas
CYX-24 Pageddof2d’ - ot '1
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107. Freferiad & PI-a1/3 ofie qrehife 1/ svae /3 2
(A) ET SR ErE R dE (B) haer @ gEredifa
(C) Fae sIerdt garehify (D) e TaTd g
Which of the following is/are subsets of wholesale inflation ?
(A) Both Housing and Food Inflation (B) Food Inflation only
(C) Walking Inflation only (D) Housing Inflation only

108, “WISHT AT TBA FTR 9
(A) TE F IICHTET o LT
B) TS S sty
©) wwﬁmwﬁ:ﬁwaﬁﬁﬁaﬁaﬁr%
(D) %Wﬁmﬁ%ﬁﬁ%mqﬁqﬁmm%

What is the “Startup India’ initiative ? \.
/ ]

(A) It provides tax incentives : \J
(B) It encourages innovation and entrepreneurship \'
(C) Itregulates the establishment of small and fiédium enterprises %-
(D) It provides subsidies for research and development activities
109. Y& “a g e farmen g forelt 1 off 2
(A) wWH=ET GRSRICSS
(C) TIER et O( R
The book “War and Peace” was authored by who:#\-?

(A) Anton Chekhov
(C) Fyodor Dostoevsky

eo Tolstoy
(D) Alexander Pushkin

110. fr=fafad § & H7-91 GST #1 T THR T8
Which of the following is not a type

ST2!
GST

What is the main purpose of the Association of Sc{uqheast Asian Nations (ASEAN) ?
(A) Economic growth, social progress and cultugal development

(B) Space exploration =R
(C) Regulating international trade < )
(D) Military cooperation
@wm T EITYOTT T Hehel & 2

112, e e 3 e S=aT % aed Tafd T
(A) FTFRR30 (B) 3T 356 (C) rFeae 360 AD) T 352
Under Wthh Article of the Indian Constitution can the President proclaim a National Emergency ?
(B) Article 356 (C) Article 360 (D) Article 352




113. #@er: 3,7, 15,31, 63, ...
sjrelT 1 el g F art 2
Series : 3, 7, 15, 31, 63, ...
What is the next number in the series ? ;

—~ (A) 135 (B) 114 w{m (D) 97

114) 30 vee F1 A fIRE ST I A= R |
(A) iR (B) @iferet OB (D) T
Choose the word which is different from the rest.
(A) Ostrich (B) Hombillo

115, HTG¥ QU HIT F

&ed ; GG $HS : ? O
(A) TEAT (By wtacar 2 ©) g .&

Complete the analogy :
Heart : Circulate :: Lungs : ?
(D) Excrete

(A) Digest (B) Breathe @ (C) Vision
| 116, S TF H () T IHH T fahvl o oforad et mﬁm%a’rma@wmmﬂ'ﬂm

| f T TR T T ?

(A) TS (FEFT)
(C) wHEET (ZHIiTES) (D) awga (311?617!17-0
o one of its diagonals, what is the shape of the resulting

When a cube is sliced by a plane perp t
cross-section ?
(A) Pentagon (B) Hexagon
(C) Trapezoid (D) Octagon ﬁ, g7 -
= e 8, AN TGH Y,

117. THIRAX, Y AR Z a@%mﬁlaﬁmx

(C) Emu (D) Kiwi

(D) Seafsid

$0O%

e Z & 1t : HEEF G d?
A) XWZ, ® © Z @) Y
A town has thr allel to each other named X, Y and Z. If street X is not the busiest, and street Y
is busier th w ich street is the busiest ?
[l (B) X C) Z D) Y
j 118. i
- Find the dissimilar number. O
| (A) 216 B) 169 , F (C) 512 (D) 343

119, sk # Pt A gem g el o2

Find out the number of triangles in the @ure

o
@
(A) 22 B) 21 Vé) 28 (D) 20
cyxa2a T T A e




120. foq o faemedt & & sjaer & s fom 3 fifsw)

Find the next figure in the series from the given options.

© ©
oo . ?
© . 0
) (1) (1) (Iv)/ J V)
\yﬂ/ = % D) [(©XC
(B) (© A (D)
&
®
121. fowm g Fifs )
Find the odd one out.
*
*
* *
O
* th
(A) P * 5 (D)
Nl *
o
122. 77 3hfa F Pyt it de wra Hifsmg (]
Find the number of triangles in the given figuge. ;ﬁ
O
\/ 3
(A) 10 (B) 12 () 1 M
o
123. SO 24 WTehd HEATSH T AN THA @ : 0 con M/ﬁ_\\%
The sum of the first 24 natural numbers is : () X w}?_/‘g:
_.—-"éi_,
(A) 600 (B) 576 lfg)C) 325 LBJ 300

124. @wﬁ,agﬁaﬁéwagﬁ?ﬁaﬁrm?ﬁ?ﬁwﬁ#%|ﬁw%1?§aﬁﬂaﬂw-mm,mﬁa%a‘hﬁ
&A1 1 Ifaf{eed T8l T Tehal ?

In a classroom, the number of boys is three times the number of girls. Which of the following totals cannot
represent the number of children in the class ?

(A) 40 wrB) 24 \59)/ 22 (D) 20

CYX-24 Page 17 of 24
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125.

126.

T Y e, I8 g Al WY o Ui o ueht B | wigh 3 T R A R 0

(A) @ (B) foar NTo gist (D) dfe

Dhanesh said, “This girl is the wife of the grandson of my mother.” Who is Dhanesh to the girl ?
(A) Grandfather (B) Father (C) Father-in-law (D) Husband
freferfiaa g | Tad ge i g Hife

Identify the incorrect number in the following series :
27,26,24,21,18,12
(A) 24 ' (B) 12 \gz{ 18 (D) 27

Q}/ T W 1 T HEE o 9 o forg vt vt fererm e

- = =T

a. 3@, 2024aa;aq1gzsﬁzsa&%ang/r W

b.  =Faw 3 a1 / <

J mﬁ-wm%am%mmuﬁmﬁwﬂqﬁ%zjwﬁlﬁl ERG

. gewegH 50§ & =Haw 25 37 |V 2 \'

e w&anﬂamt%WPGqﬁ%,a‘rum@_aﬁHWmﬁ Al

£ o Srficar gerey i = 37 ST T e, e A ﬁﬂiﬂa T |

g AR Ieficar Iy W ) S 3wt 4 %amﬁm%ﬁ%ﬂ*ﬁﬁ
AT AT |

Frferiaa SRR 3 STTaT W g 59 & fae i ST =feT ?

eIRCER 56%313%%WMCA smrﬁr@: 1999|@m%mﬁsaﬁw@ﬁlmﬁ

55% 31 ST 3T |
(A) TR )
AB)  FHIEER F G e am%
() Ifigam = feres & w0 H
(D) WHT e % (v fmsn:n% e.;
Consider the conditions f T ing faculty membets in a School :
Age between 2 ars as of April, 2024. |

Work expe imum 3 years. &
Post rad % relevant subject with(at least 60% marks.

5 marks in the interview, out of 50.
idate does not have PG, the case is to be referred to the senior faculty member.
candidate does not score minimum marks in the interview, the case is to be referred to

Principal of the School.
If the candidate satisfies all other qualifications except the age limit, the case is to be referred to the

Board of Directors of the School. (RL

e aon o

g.

Which course of action should be taken for Sudha %mJan based on the following information ?

Sudha Ranjan : MCA with 56% marks. Date of< rrth February 12, 1999. 5 years of experience as a
teacher. Obtained 55% marks in the interview. ,

(A) Data is inadequate f “,

(B) Candidate is not to be selected as a faculty elinber

(C) Candidate is to be selected as a teacher s

(D) Case is to be referred to the Board of Dtrect%rsh of the school




128. - Frerfeefem 3 & smmepfir 3 ador sfifiiar 3 e ke ador Xy T a
Find the mirror image of the figure from the following if the mirror is placed at XY :
X

¥
O O O O

129, Freafeiae i & e (3ive) 1 g ¢

P | W

~

Pick out the odd one from the following : »
5, 15, 60, 350, 1800 &l
(A) 1800 B) 60 N RER) (D)NLS
130. T wfeet At 3R T e gy, Sreien 3 s, “IweT O I S S re SR 3w Aheer 3w & R
TR Heifera @ 2
(A) w= (B) & (©) weft | ) i
Pointing to a woman, Ashok said, “Her granddaughter is the only” daughter of my brother”. How is the
gvoman related to Ashok ? 3t
(A) Mother-in-law (B) Daughter { (©) Wife (D) Mother
131. fr=ferfian & & formm (Ssite) 1 gfi 92
Pick out the odd one from the following : &
1331, 1728, 2197, 2744 3365 -
(A) 1331 (B) 2197 g}{ (©) 1728 D) 3365
132. “TLSEEV” &l I si@er i sqeree i & & 2Raw | anfber sageen fimfofaa § & .91 s w2
el 8 2 ‘

Observe the arrangement of the séries of letters “TLSEEV”. The logical arrangement can give which of the
following meaningful words ?

(A) LEAVE (B) \STEEL (&) TEASEL (D) VESSEL

133. fruffta Hifrg o fREHT g *POTASSIUM” % Selieh 78R T halet Teh ST ST 30 Freferfiad & & #-4T
Y8 ST ST Fehhe | H
Determine which of the following words ‘can be formed using each letter of the given word
“POTASSIUM” only once. o
(A) POPPSY B) TOASTY &' (C) MOUSE x @) MASS

134. S m#n=m?—mn+n? T4l m?n=(m+ni2—mn g, ar 2?73)=(5%3)=
If m#n=m?-mn+n? and m?n=(m+n)2= mn, then (223)=(5#3)=
(A) 876 (B) 978 ¥ JE): 361 (D) 4332
135, afe ‘P, ' I I &, ‘Q), X W Wl ¥, R, 4+ F qwlar ¥ ek S, 0 Y awiar T oar
‘9Q15P3RSESS FIAXHIR?
If ‘P’ represents ‘+’, ‘Q’ represents x’, ‘R’ represents ‘+” and ‘S’ represents ‘~’, what is the value of

‘9Q15P3R8SS5? '
(A) 49 (B) 47 'J{CﬂS (D) 44

qxIS 2+~ S
st
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136. Gaiferd yse J1a Hifsre :
greft : oftcienr o F TR ? ’
(A) &4 B) s Mﬂ@ﬁw (D) W

(A) Russia (B) England (C) Australia (D) India
137. U qEli Y AT A F §Y, 7Y A aqq'-ﬁa@w@w, “agﬂ’{ﬁmaﬁﬁwmﬁmaa% I Y 1
AR ATl Aok | T T @ 2 s
(A) =HfEE (B W
Vol i 2 (D) Wt
Pointing to a photograph, Madhu said to hér friend Krishna, “He is the only son of the mother of my
father.” How is Madhu related to the person iff the photograph ?
(A) Cousin (B) Grand“daughter
(C) Daughter (D) Niecesm, |
138. <1 TS 3TER el 1 U F 3 forg ek S W |
Fill in the blank to complete the given letter series.
ABC, GHI, __,STU
(A) LMN ON\@ mno
(©) JKL N (D) KLM
139. wF fifi@Fied, ‘GARB’ &I ‘HEAR’ %@%%lwﬁgﬁ‘mop’%@mm?
In a certain code, ‘GARB’ is written as ‘HEAQ/{" How will ‘DROP’ be written in that code ?
(A) /EVXF s :;}J (B) EUWG
EUXG ® EWXF
140, fo e e ik Py iy it Pt ifiT i i-an/a Freed e o1 ST T 2/ € |
P . T S ST G o STgeh ST agd TeE el g |
L @i e e aEe e | i
L e e et T e s <ol e A |
m{waﬁﬁmaﬂmﬁrnmm% B (B) e frewd 1 srgwmOr AT
(C) T Fared 1 4T 11 STTER0T e @ :)) (D) Faa frewd | SR sar ®
Read the Statement and Conclusions given{;@nd decide which of the Conclusions follow(s) from the
Statement. A
Statement :  Red-haired people love riding le‘jges.
Conclusions : . . ®
I.  All people love riding bikes.
II. Red-haired people love riding bikes only.
(A) Neither Conclusion I nor II follows (B) Only Conclusion II follows
(C) Either Conclusion I or II follows (D) Only Conclusion I follows
oS R e s st e

Find the related word :
Elephant : Sri Lanka :: Kangaroo : ?
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141. SIS 3119 5 fopft 3t

&l 3T ey : JE et
R ol a5 %‘aﬂtﬁ?wo%mmaﬁtgeﬁﬁaﬂts%ﬁaﬂtaaﬁ%mmm:@m

e\
(A) 4 ey

How far are you from yo
and walk another § km ?
(A) 4km

(B) 5 feht

(B) 5km

142, wa@ﬁraﬁ%‘mﬁ@hﬂzﬁaﬁww%l
Identify the figure that completes the pattern,

—

AAIO O
AAAOO
Al ?
(X)
OO AA
M OO (B) AA

143. R faedt i e (et 3

Among the given options, choose the odd one out.

27, 125, 343
) 512

144, Geifta e 319 fifv
Find the related number. Q
7:48::12:9

(A) 112

2) 729
(B) 343

(B) 84

() 7 ferdt (D) 6 fdy
ur starting point when you walk 5 km north and then turn 90 degrees to your left
(©) E%:km (D) 6km
A
&
4
a
&
®
&0 00
© (83 D)
=m0
]
\4
° & Z\IJQQ (D) 27
) &
] @ L’
@)/ 143 (D) 121 -

145. 3% 310 S o e e e S 5 Rt s, o o e e § e

LGl (B) ‘afepr

LN

) (afsrr s

Which way would you faCémow ifyou turned 45 degrees% the left after starting by facing north-east ?

(A) East (B) South

(© \\h}est (D) North
2

146. 59 T (2) % T qOwR TRt i & 3f smpfr afig 15

; ; , i k (2).
Choose the appropriate figure from the Answer Figures té{r}place the question mark (?)

o

@‘7

®

I 11 111 v




147. wsiftrd yisg 1a AR |
SIAHE : AGETe o IS : ?
(A) @ (B) ufer ©) fe (o) T
Find out the related word. (:)
Diamond : Baseball :: Court : ? 5 .
(A) Squash (B) Arena {1(C) Rink D) K02
148. it yrsg J1q AT | oy
qT'ﬁ‘ (99 ‘FT§: ? f:}
YAyt s o @®)
() frr @ (D) T
Find the related word. ® \’

Pi: Circle :: Phi: ?

(A) Golden Ratio (B) Rectan%'ilc

(C) Triangle () (D) Pentdgon

149. Ty errt@ =t wieqor hifsie 3k Fraferfiaa g g

J
10 25 N
20 /17 15\ 30 ) 40 '@ —> SrefEFETRE
/ 7\ 20 &
s — SrafeaE e E

oy = S 61 i ¥ 2 &

(A) 70 (w ©) 55 B 45
Examine the proviged and respond to of ¢ e following question.

&: —> Persons who take tea
’ L

30 40
—> Persons who take juice

7\ 20
20
y’,}

How many individuals drink only coffee ? @)
(A) 70 (B) 75 (C) 55 (D) 45

150. 150 BT ht T el H, 70 BT 7O H ST BT, 60 BT TR forgr 7 3efiof 7w 3f 20 w1 7T 39k T
fergmer @ & efiof g | it @t forat & swwiivt o Y g R
In a class of 150 students, 70 students passed in Mathematics, 60 students passed in Chemistry and
20 students passed in both Mathematics and Chemistry. Then the number of students that failed in both

the subjects are :

J

—> Persons who take coffee

ﬁ/fo P




